
C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 1 OF 63SCALE: 1:40

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 2 OF 63SCALE: 1:40

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



 9750 

 8
23

3 

 6788 

 4
73

3 

 R1500  R
15

00
 

 1
50

0 

 R1500  R1
50

0 

 1
50

0 

 R
15

00
 

 1
50

0 

 R15
00

 

 1
50

0 

 1500 

 R1500  R1500 

 R1000 

 R
10

00
 

 1
50

0 

 R15
00

 

 R
15

34
 

 R1500 

 R1000  R10
00

 

 1000  1000 

 R1500 
 1500 

 R1534 

 R1534 

 1500 

Safety area

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 3 OF 63SCALE: 1:60

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



 850  780 

 8
50

 

 1
38

7 

 1
20

5 

 425  425 

 676  676 

 8
23

3 

 9750 

 850  850  1692  1535 
 2

28
9 

 1
64

8 

 4
70

 

A

B

C

D

E

F

G

H

I

J

K

L

Foundation

Depth of foundation: 600mm

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 4 OF 63SCALE: 1:60

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



 6788 

 6
00

 

 3
80

8 
 1

55
0 

 9
50

 

 4733 

 300  3
00

 

 5
0 

ground

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:60 SHEET 5 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



LM213-1 2800 Post A

LM213-1 2800 Post B

LM213-1 2800 Post C

LM213-1 2800 Post D

LM213-1 2800 Post E

LM213-1 2800 Post F

LM213-1 2800 Post G

LM213-1 2800 Post H

LM213-1 1840 Post I

LM213-1 2100 Post J

LM213-1 1840 Post K

LM213-1 1840 Post L

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 6 OF 63SCALE: 1:45

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



LM213-1 Platform 1

LM213-1 Platform 2

LM213-1 Platform 3

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 7 OF 63SCALE: 1:15

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



H950 Slide

H1550 Slide

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 8 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



H1550 Rope ramp

Climbing ramp 750x1960 with grips

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 9 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



H950 Stair

3 step rope bridge

Seat

Stove

LM213-1 climbing pole side panel 126x850mm

2x

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 10 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



Guardrail D25x770

2x40x660mm tube

1455mm Tube with 4 holes

1612 tube with 6 holes

H-1550 climbing pole

extension

Long eye

2x

3x

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 11 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



1455x1740 Net

Slide side panel block 1 Slide side panel block 2

4 arched roof

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 12 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



LM213-1 cheese wall

Playground downward curve panel with binoculars, lower hole 100mm

Playground retangle panel, lower hole 100mm with clock

Playground retangle panel with seat, lower hole 100mm

Playground retangle panel with stove, lower hole 100mm

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 13 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



Playground upward curved panel, lower hole 100mm cap between holes 520mm

Playground upward curved panel, lower hole 70mm with alphabet

Tic-tac-toe

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 14 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



6 x 90 Woodscrew6 x 90 Woodscrew

Profile post cap

M6 Nut cover
5,5x50 DIN7504-K

M6 Nut cover cap
M6 Nut cover

5,5x50 DIN7504-K
M6 Nut cover cap

750mm metal groundfixing

Wood profile post gap and 
groundfixing assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 15 OF 63SCALE: 1:6

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



6 x 60 Woodscrew6 x 60 Woodscrew

Aluminium post filling for post capAluminium post filling for post cap

Aluminium post filling for post capAluminium post filling for post cap

Aluminium profile post cap for groundfixing

6 x 60 Woodscrew6 x 60 Woodscrew

Post

Profile post cap

M10x100 bolt DIN603M10x100 bolt DIN603

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

Aluminium profile post groundfixing

Aluminium profile post gap and 
tube groundfixing assembly

Step 1

Step 2

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 16 OF 63SCALE: 1:10

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



LM213-1 2800 Post D

LM213-1 2800 Post C

LM213-1 2800 Post B

LM213-1 2800 Post A

LM213-1 Platform 1
B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:25 SHEET 17 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



A

DETAIL A
SCALE 1 : 16

M10x60 bolt DIN603M10x60 bolt DIN603

6 x 90 Woodscrew6 x 90 Woodscrew6 x 90 Woodscrew6 x 90 Woodscrew

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

M10 domed cap nut DIN986

M10x100 bolt DIN603

Platform to post assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 18 OF 63SCALE: 1:50

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



Playground downward curve panel with binoculars, lower hole 100mm

Playground retangle panel with seat, lower hole 100mm

Playground retangle panel with stove, lower hole 100mm

Long eye

Slide side panel block 1

Stove

Seat

LM213-1 2800 Post B

LM213-1 2800 Post DLM213-1 2800 Post A

LM213-1 2800 Post C

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:25 SHEET 19 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M10x35 bolt DIN603M10x35 bolt DIN603

M10x100 bolt DIN603M10x100 bolt DIN603

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

M12 Nut cover
M10 Washer DIN9054
M10 Nut DIN985
M12 Nut cover cap

Corner 40x45x60mm 90°Corner 40x45x60mm 90°

Panel to post assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 20 OF 63SCALE: 1:12

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



Platform

Post

Panel
Outside

 7
0 

 8
5  1
00

 

 5
00

 

The panel must be installed on the post as shown in the picture!!!

Explanation of the `lower hole` behind the panel name:

Panel to post assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 21 OF 63SCALE: 1:10

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



 125 

M12 Nut cover cap
M10 Nut DIN985

M10 Washer DIN9054
M12 Nut cover

M12 Nut cover cap
M10x50 bolt DIN933
M10 Washer DIN9054

M12 Nut cover

Slide guardrail 500mm

4,8x13 screw DIN9112

M10x35 bolt DIN603

M8x45 bolt DIN603
M8 Nut cover

M8 Nut DIN985
M8 Nut cover cap

M10x35 bolt DIN603

M10x100 bolt DIN603

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

M6x35 DIN7991

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:12 SHEET 22 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M10x60 bolt DIN603

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985

M12 Nut cover cap

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 23 OF 63SCALE: 1:7

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



M8x40 DIN7991M8x40 DIN7991M8x40 DIN7991M8x40 DIN7991

Playgrounds seat panel MF

Plastic corner 90° 220x220mmPlastic corner 90° 220x220mm

 65 
 180 

Seat MF assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 24 OF 63SCALE: 1:8

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



Plastic corner 90° 220x220mmPlastic corner 90° 220x220mm

M8x50 DIN7991M8x50 DIN7991M8x50 DIN7991M8x50 DIN7991
Seat beam 30x110x600mmSeat beam 30x110x600mm

 5 

 65 
 65 

Seat assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 25 OF 63SCALE: 1:8

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Seat MF assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 26 OF 63SCALE: 1:8

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



M8x40 bolt DIN603M8x40 bolt DIN603

Playground stove circle, yellowPlayground stove circle, yellow

Stove panel

M8 washer DIN9021

M8 domed cap nut DIN986

4x25 Screw DIN9112

M8 domed cap nut DIN986

M8 washer DIN9021

4x25 Screw DIN9112

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Stove assembly

Step 1

Step 2

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 27 OF 63SCALE: 1:7

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Stove assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 28 OF 63SCALE: 1:7

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



LM213-1 2800 Post H

LM213-1 2800 Post F

LM213-1 2800 Post E

LM213-1 2800 Post G

LM213-1 Platform 2

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:25 SHEET 29 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



LM213-1 climbing pole side panel 126x850mmLM213-1 climbing pole side panel 126x850mm

H-1550 climbing pole LM213-1 cheese wall

LM213-1 2800 Post E
LM213-1 2800 Post F

LM213-1 2800 Post H

extension

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:28 SHEET 30 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M10 Nut DIN985
M10x60 bolt DIN931

Extension

M10x100 bolt DIN603

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 31 OF 63SCALE: 1:13

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



A

DETAIL A
SCALE 1 : 10

M12 Nut cover cap

M10 Nut DIN985

M10 Washer DIN9054

M12 Nut cover

M10x80 bolt DIN603

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

L-100mm cornerL-100mm corner

M10x35 bolt DIN603M10x35 bolt DIN603

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 32 OF 63SCALE: 1:50

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



A

DETAIL A

SCALE 1 : 10

M12 Nut cover

M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

M10x80 bolt DIN603

Cheese wall assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 33 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



LM213-1 2100 Post J

LM213-1 1840 Post L
LM213-1 1840 Post I

?

LM213-1 Platform 3

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 34 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



Slide side panel block 2Slide side panel block 2

Guardrail D25x770
LM213-1 2100 Post J

LM213-1 1840 Post L

LM213-1 1840 Post K

LM213-1 1840 Post I

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 35 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



A

DETAIL A
SCALE 1 : 7

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

L-100mm corner

M10x35 bolt DIN603

M10x100 bolt DIN603M10x100 bolt DIN603

M10x80 bolt DIN603

M12 Nut cover

M10 Washer DIN9054

M10 Nut DIN985

M12 Nut cover cap

Slide side panel

M12 Nut cover cap
M10 Nut DIN985
M10 Washer DIN9054
M12 Nut cover

135mm U-shape corner

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 36 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



M12 Nut cover

M10 Washer DIN9054

M10x100 bolt DIN931

M12 Nut cover cap

Guardrail D25x770

M6 Nut cover cap

5,5x50 DIN7504-K

M6 Nut cover

Guardrail installation to aluminium post

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 37 OF 63SCALE: 1:7

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



Guardrail D25x770

4,8x40 Screw DIN7996

M12 Nut coverM10 Washer DIN9054

M10x100 bolt DIN931

M12 Nut cover cap

Guardrail to wood post assembly

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:5 SHEET 38 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



Playground upward curved panel, lower hole 70mm with alphabet

Playground upward curved panel, lower hole 100mm cap between holes 520mm

Playground retangle panel, lower hole 100mm with clock

tic-tac-toe

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 39 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M12 Nut cover
M10 Washer DIN9054

M10x80 bolt DIN933
M12 Nut cover cap

Clock detail 1-2
M10 washer DIN9021

Clock detail 1

Clock spring

M10 T-nut

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985

M12 Nut cover cap

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:7 SHEET 40 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M6x25 DIN7380M6x25 DIN7380

Tic-tac-toe O

Tic-tac-toe X

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 41 OF 63SCALE: 1:2

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



M6x25 DIN7380M6x25 DIN7380

Tic-tac-toe middle fixing plastic

Tic-tac-toe end fixing plastic

Tic-tac-toe end fixing plastic

Tic-tac-toe 605mm stick

Tic-tac-toe middle fixing plastic

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 42 OF 63SCALE: 1:5

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



B

1612 tube with 6 holes1612 tube with 6 holes

3 step rope bridge

Guardrail D25x770

Guardrail D25x770

DETAIL B

SCALE 1 : 10

M10x100 bolt DIN603

M12 Nut cover
M10 Washer DIN9054

M10x100 bolt DIN931

M12 Nut cover cap

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

Guardrail D25x770

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:30 SHEET 43 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



A

DETAIL A
SCALE 1 : 7

M12 Nut cover for tube

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

M10x100 bolt DIN603M10x100 bolt DIN603
M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

Nets and ropes have to be assembled 
after the foundation concrete has 
hardened!!!

Net and net tube to post assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 44 OF 63SCALE: 1:30

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



M10x65 bolt DIN603

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

RS213 Rope bridge step panel

Beam

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:10 SHEET 45 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M8 Nut cover

M8x40 bolt DIN931

M8 Nut cover cap

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:12 SHEET 46 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



C

1455mm Tube with 4 holes

1455x1740 Net

DETAIL C

SCALE 1 : 5

1455x1740 Net
M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap
B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:35 SHEET 47 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



H950 Stair

H1550 Rope ramp

Climbing ramp 
750x1960 with grips

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:35 SHEET 48 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M10x60 bolt DIN603

M10 domed cap nut DIN986

L-shape groundfixing

M12 Nut cover cap
M10 Nut DIN985

M10 Washer DIN9054
M12 Nut cover for tube

2x40x660mm tube

4,8x40 Screw DIN7996

M12 Nut coverM12 Nut cover

M10 Washer DIN9054
M10x70 bolt DIN931

M12 Nut cover cap

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

M12 Nut cover
M10 Washer DIN9054
M12 Nut cover cap

45x110x2121mm inclined rope ramp beam
Stair corner left

M10x65 bolt DIN603

Stair corner right

45x110x2121mm inclined rope ramp beam

H-1550 rope ramp, ropes

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 49 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M10x60 bolt DIN603

M10 domed cap nut DIN986

L-shape groundfixing

M12 Nut cover cap
M10 Nut DIN985
M10 Washer DIN9054
M12 Nut cover

Stair corner rightStair corner left

45x70x1950mm climbing ramp beam

45x70x1950mm climbing ramp beam

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 50 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M8x16 barrel nut

M8x55 bolt DIN603

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985

M12 Nut cover cap

Climbing ramp 750x1960 with climbing grips

small gripsmall grip

big grip

M12x110 bolt DIN603

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:20 SHEET 51 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M12 Nut cover cap

M10 Nut DIN985
M10 Washer DIN9054
M12 Nut cover

M10x65 bolt DIN603

M10 domed cap nut DIN986
M10 washer DIN125

M10 washer DIN125

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:10 SHEET 52 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



M10x65 bolt DIN603

M12 Nut cover

M10 Washer DIN9054

M10 Nut DIN985

M12 Nut cover cap
B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:12 SHEET 53 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



L-shape groundfixing

M10 domed cap nut DIN986

M10x45 bolt DIN603

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

M10x50 bolt DIN603M10x50 bolt DIN603

Stair corner left

Stair corner right

6 x 90 Woodscrew6 x 90 Woodscrew

Stair to post and platform assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 54 OF 63SCALE: 1:12

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



 55
 

M12 Nut cover

M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

M10x80 bolt DIN603M10x80 bolt DIN603M10x80 bolt DIN603

Stair to post and platform assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 55 OF 63SCALE: 1:12

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



Stair to post and platform assembly

M12 Nut cover
M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

M10x65 bolt DIN603

M12 Nut cover
M10 Washer DIN9054
10x100 screw DIN571
M12 Nut cover cap

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 56 OF 63SCALE: 1:12

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



M10x120 bolt DIN603
M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

Plastic cap GL42x0,8-2,5

42,4x1345mm groundfixing42,4x1345mm groundfixing

6 x 90 Woodscrew6 x 90 Woodscrew6 x 90 Woodscrew6 x 90 Woodscrew

M10x80 bolt DIN603M10x80 bolt DIN603M12 Nut cover for tube
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

H 950 MF Stair assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 57 OF 63SCALE: 1:14

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



H1550 Slide

H950 Slide

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:40 SHEET 58 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



A

B

In the case of plastic
slide, these bolts are
M10x60 DIN603

In the case of plastic
slide, these bolts are
M10x60 DIN603

DETAIL A
SCALE 1 : 8

M12 Nut cover
M10 Washer DIN9054
M10 Nut DIN985
M12 Nut cover cap

Slide corner 58x30 for bolt

M8x16 DIN7380

M10x50 bolt DIN603M10x50 bolt DIN603

DETAIL B
SCALE 1 : 10

M8 Nut cover
M8 Nut DIN985

M8 Nut cover cap

M8x30 bolt DIN603

M8x50 bolt DIN933M8x50 bolt DIN933

M8 Nut DIN985

M8x45 bolt DIN603M8x45 bolt DIN603

Slide to platform assembly

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:14 SHEET 59 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1



B

DETAIL B
SCALE 1 : 5

M8x35 bolt DIN603

M8 Nut cover

M8 Nut DIN985

M8 Nut cover cap

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 60 OF 63SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



Roof arc 2

Roof arc 1

Roof arc 2Roof arc 1

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

4 arched roof assembly

Step 1
 45 

Roof arc 1

 53 

Roof arc 2

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 61 OF 63SCALE: 1:7

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



Profile post cap for 4 arched roof

M8x40 DIN7991M8x40 DIN7991M8x40 DIN7991M8x40 DIN7991

Step 2
4 arched roof assembly

C

2 31 4

B

A

D

E

F

LM213-1

17.04.2023I.Agar

WEIGHT: 

A4
SHEET 62 OF 63SCALE: 1:7

DESCRIPTION:

DATESIGNATURENAME

DRAWN

Product code:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Play centre Dagmar



D

DETAIL D

SCALE 1 : 5

M8 Nut cover cap

8x60 screw DIN571

M8 Nut cover

B

C

D

1 2

A

321 4

B

A

5 6

C

Play centre Dagmar

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Product code:

DRAWN

NAME SIGNATURE DATE

DESCRIPTION:

SCALE: 1:40 SHEET 63 OF 63

A4
WEIGHT: 

I.Agar 17.04.2023

LM213-1


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4

	Sheet5
	Drawing View5
	Drawing View6

	Sheet6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18

	Sheet7
	Drawing View19
	Drawing View20
	Drawing View21

	Sheet8
	Drawing View23
	Drawing View24

	Sheet9
	Drawing View25
	Drawing View26

	Sheet10
	Drawing View27
	Drawing View28
	Drawing View39
	Drawing View40
	Drawing View41

	Sheet11
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34

	Sheet12
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38

	Sheet13
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46

	Sheet14
	Drawing View47
	Drawing View48
	Drawing View49

	Sheet15
	Drawing View50

	Sheet16
	Drawing View51
	Drawing View52

	Sheet17
	Drawing View53

	Sheet18
	Drawing View54
	Detail View A (1 : 16)

	Sheet19
	Drawing View56

	Sheet20
	Drawing View57

	Sheet21
	Drawing View58
	Drawing View59

	Sheet22
	Drawing View60

	Sheet23
	Drawing View71

	Sheet24
	Drawing View72
	Drawing View73
	Drawing View74

	Sheet25
	Drawing View76
	Drawing View77
	Drawing View78

	Sheet26
	Drawing View75

	Sheet27
	Drawing View79
	Drawing View80
	Drawing View81

	Sheet28
	Drawing View82

	Sheet29
	Drawing View83

	Sheet30
	Drawing View84

	Sheet31
	Drawing View85

	Sheet32
	Drawing View86
	Detail View A (1 : 10)

	Sheet33
	Drawing View88
	Detail View A (1 : 10)

	Sheet34
	Drawing View90

	Sheet35
	Drawing View91

	Sheet36
	Drawing View92
	Detail View A (1 : 7)

	Sheet37
	Drawing View94

	Sheet38
	Drawing View95

	Sheet39
	Drawing View96

	Sheet40
	Drawing View97

	Sheet41
	Drawing View99

	Sheet42
	Drawing View98

	Sheet43
	Drawing View100
	Detail View B (1 : 10)

	Sheet44
	Drawing View102
	Detail View A (1 : 7)

	Sheet45
	Drawing View139

	Sheet46
	Drawing View140

	Sheet47
	Drawing View104
	Detail View C (1 : 5)

	Sheet48
	Drawing View106

	Sheet49
	Drawing View107

	Sheet50
	Drawing View108

	Sheet51
	Drawing View109

	Sheet52
	Drawing View110

	Sheet53
	Drawing View111

	Sheet54
	Drawing View112

	Sheet55
	Drawing View113

	Sheet56
	Drawing View114

	Sheet57
	Drawing View115

	Sheet58
	Drawing View116

	Sheet59
	Drawing View117
	Detail View A (1 : 8)
	Detail View B (1 : 10)

	Sheet60
	Drawing View120
	Detail View B (1 : 5)

	Sheet61
	Drawing View133
	Drawing View134
	Drawing View135

	Sheet62
	Drawing View136

	Sheet63
	Drawing View137
	Detail View D (1 : 5)


